Operations with Octal Numbers (D)

62214

+ 41164

414)2347025

117124

— 7717

13615

+ 27164

315)1303645

Calculate each answer.

625)3736665

715)4711254

5127

X bdg

105)120405

4500y

+ 44504

665)237622;

56433

+ 71024

135214

— 41104

2763

+ 14714

324)121722;

66633
+ 53633

154)716415

44633
+ 65423

111374
— 75605

745)3526605
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Operations with Octal Numbers (D) Answers

62214

+ 41164

123375

46025

414)2347025

117124

— 7717

17735

13615

+ 27164

42774

3424

315)1303645

Calculate each answer.

50233

625)3736665

53753

715)4711254

51275
X bdg

3433644

12044

105)12040g

45003

+ 44504

11150g

27533

665)237622;

56433

+ 71024

147454

135214

— 41104

74114

2763

+ 14714

1767

31154

324)121722;

66633
+ 53633

142464

4345
154)716415

44633
+ 65423

132254

111374
— 75605

13573

37244
744)3526605
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